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Assistant Director (Tribal Welfare) 2018

Itemcode : AT1061
Q1 : Who is Scheduled Caste?

(a)  Lohra
 (b)  Gorait
 (c)  Chik Baraik

 (d)  Ghasi
 

Itemcode : AT1062
Q2 : The process by which certain groups motivate and guide the group is called

(a)  Leadership
 (b)  Group dynamics

 (c)  Social control
 (d)  Social facilitation

 

Itemcode : AT1063
Q3 : How many tribes were scheduled in 1931?

(a)  26
 (b)  18
 (c)  28
 (d)  30
 

Itemcode : AT1064
Q4 : Which statement is more correct in regard to the mother-tongue?

(a)  Deprives from International language
 (b)  Handicaps love of nation

 (c)  Strengthens base of education
 (d)  Obstructs national language

 

Itemcode : AT1065
Q5 : Which of the following is not true for groups?

(a)  Group members work less hard on additive tasks.
 (b)  Group members perceive themselves as working just as hard in the group or individually.

 (c)  A group situation decreases evaluation concerns.
 (d)  Individual effort increases as the size of the group increases.

 

Itemcode : AT1066
Q6 : Two or more people who interact with and influence one another are called

(a)  Co-actors
 (b)  A group

 (c)  Social facilitator
 (d)  Groupthink

 

Itemcode : AT1067
Q7 : Which tribe observes 'Bandai' festival?

(a)  Khadia
 (b)  Munda
 (c)  Mahali
 (d)  Lohra
 

Itemcode : AT1068
Q8 : People who are less likely to help someone because there are a lot of people present would be exhibiting

(a)  Groupthink
 (b)  Group polarization

 (c)  Diffusion of responsibility
 (d)  Mere exposure effect

 

Itemcode : AT1069
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Q9 : Have Adivasi been benefitted with the Reservation Policy?

(a)  Yes
 (b)  No
 (c)  A little

 (d)  Not known
 

Itemcode : AT1070
Q10
:

What is the traditional profession of Karmali tribe?

(a)  Jhum cultivation
 (b)  Hunting

 (c)  Making tool of iron
 (d)  Food gathering

 

Itemcode : AT1071
Q11
:

Which one of the following is not an element of rural community?

(a)  We-feeling
 (b)  Cultural diversity

 (c)  Territory
 (d)  Self-sufficiency

 

Itemcode : AT1072
Q12
:

Choose the correct sequence of following in order of increasing complexity:

(a)  Hunting, Gathering, Agrarian, Pastoral, Industrial and Post-industrial societies.
 (b)  Gathering, Pastoral, Hunting, Industrial and Post-industrial societies.

 (c)  Hunting, Pastoral, Agrarian, Industrial and Post-industrial societies.
 (d)  Agricultural, Gathering, Hunting, Horticultural, Industrial and Post-industrial societies.

 

Itemcode : AT1073
Q13
:

The basic difference between classical and modern sociological perspectives is visible in the

(a)  Silent shift from macro to micro theoretical perspective
 (b)  Radical shift from micro to macro perspective

 (c)  Development of middle range theories
 (d)  None of the above

 

Itemcode : AT1074
Q14
:

In which tribe the tradition of 'Dakua' is in vogue?

(a)  Binjhia
 (b)  Gond

 (c)  Ho
 (d)  Kharia

 

Itemcode : AT1075
Q15
:

What is the simple identification of folk-literature?

(a)  Unavailability of name of writer
 (b)  Availability of the name of writer
 (c)  Simplicity of language

 (d)  Local colour
 

Itemcode : AT1076
Q16
:

An idea about a given state of affairs put forward in exact terms to provide basis for empirical testing is known as

(a)  Ideal type
 (b)  Hypothesis
 (c)  Sociological imagination

 (d)  Empirical Research
 

Itemcode : AT1077
Q17
:

What is the word for the festival of fire-walking among the Sadans?

(a)  Mansa
 (b)  Jhanda
 (c)  Phoolkhundi

 (d)  Dhuwansi
 

Itemcode : AT1078
Q18
:

In case of doing a research which is the correct sequence?

(a)  Formulation of the problem, data collection, hypothesis, analysis of data
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(b)  Data collection, hypothesis, formulation of the problem, analysis of data
 (c)  Formulation of problem, hypothesis, data collection, analysis of data

 (d)  Hypothesis, analysis of data, formulation of the problem, data collection
 

Itemcode : AT1079
Q19
:

Every man in society occupies a number of statuses. Different statuses associated with a single person are known as

(a)  Status inconsistency
 (b)  Status sequences

 (c)  Status set
 (d)  Status succession

 

Itemcode : AT1080
Q20
:

Which one of the following is not an indicator of cultural diversity in India?

(a)  Race
 (b)  Caste
 (c)  Class
 (d)  Religion

 

Itemcode : AT1081
Q21
:

Which of the following is not an indicator of human developement?

(a)  Scientific Orientation
 (b)  Improvement in quality of life

 (c)  Gender equality
 (d)  Widow remarriage

 

Itemcode : AT1082
Q22
:

Which one of the following is known as the process by which cultural traits spread from one culturally distinct group to
another?

(a)  Evolution
 (b)  Assimilation

 (c)  Accommodation
 (d)  Diffusion

 

Itemcode : AT1083
Q23
:

When a Hindu male marries a woman from his lower caste, it is called

(a)  Hypogamy
 (b)  Hypergamy
 (c)  Levirate

 (d)  Sororate
 

Itemcode : AT1084
Q24
:

Which is the most scientific script?

(a)  Olciki
 (b)  Roman

 (c)  Arabic
 (d)  Devnagri

 

Itemcode : AT1085
Q25
:

What is witch-craft?

(a)  Folk faith
 (b)  Blind faith
 (c)  Half faith

 (d)  Full faith
 

Itemcode : AT1086
Q26
:

Which element is dominating in the folktale?

(a)  Worldly life
 (b)  Ghost

 (c)  Unworldly
 (d)  Prince-Princess

 

Itemcode : AT1087
Q27
:

What was the easy medium for learning in folk life?

(a)  VedPurana
 (b)  Yatra

 (c)  Pravachana
 (d)  Folk Literature
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Itemcode : AT1088
Q28
:

What is worshipped in 'Sohrai'?

(a)  Forest animals
 (b)  Agriculture

 (c)  Ancestors
 (d)  Domestic animals

 

Itemcode : AT1089
Q29
:

Eco-feminism grew in India as the result of

(a)  Participation in Chipko Movement
 (b)  Women's participation in Dandi March

 (c)  Women's participation in Freedom Struggle
 (d)  Women's participation in Lokpal Movement
 

Itemcode : AT1090
Q30
:

Which of the following is most effective in addressing social inequality caused by caste system yielding tangible results?

(a)  Positive discrimination
 (b)  Affirmative action

 (c)  Development policies
 (d)  Caste based politics

 

Itemcode : AT1092
Q31
:

Choose the correct sentence:

(a)  The mango tastes sweet
 (b)  The mango is tasting sweet

 (c)  The mango taste sweet
 (d)  The mango tasting sweet

 

Itemcode : AT1093
Q32
:

Find out the WRONGLY SPELT word.

(a)  Appreciate
 (b)  Curious

 (c)  Doubtful
 (d)  Temparature

 

Itemcode : AT1094
Q33
:

Don't talk to him about politics because it's like a _________ rag to a bull.

(a)  blue
 (b)  white
 (c)  red

 (d)  black
 

Itemcode : AT1099
Q34
:

Which of these is an adverb? It is__________

(a)  quicker
 (b)  quickly
 (c)  sly

 (d)  quickest
 

Itemcode : AT1102
Q35
:

Complete the sentence:
 Hardly had he reached the airport __________

(a)  when the plane took off
 (b)  so the plane took off

 (c)  then the plane took off
 (d)  and the plane took off
 

Itemcode : AT1159
Q36
:

A book that lists words in groups of synonyms is known as

(a)  Antonym
 (b)  Thesaurus
 (c)  Dictionary
 (d)  Encyclopedia

 

Itemcode : AT1168
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Q37
:

Give the correct meaning of the phrase underlined in the sentence.
 The authorities took him to task for his negligence.

(a)  Promoted
 (b)  Given a benefit

 (c)  Given more tasks to complete
 (d)  Reprimanded

 

Passage:
 The following passage refers to below questions :

 
The Trojan War is one of the most famous wars in history. It is well known for the 10-year duration, for the heroism of a
number of legendary characters, and for the Trojan horse. What may not be familiar, however, is the story of how the war
began.

 
According to Greek myth, the strife between the Trojans and the Greeks started at the wedding of Peleus, King of Thessaly,
and Thetis, a sea nymph. All of the gods and goddesses had been invited to the wedding celebration in Troy except Eris,
goddess of discord. She had been omitted from the guest list because her presence always embroiled mortals and immortals
alike in conflict.

 
To take revenge on those who had slighted her, Eris decided to cause a skirmish. Into the middle of the banquet hall, she
threw a golden apple marked 'for the most beautiful.' All of the goddesses began to haggle over who should possess it. The
gods and goddesses reached a stalemate when the choice was narrowed to Hera, Athena, and Aphrodite. Someone was
needed to settle the controversy by picking a winner. The job eventually fell to Paris, son of King Priam of Troy, who was said
to be a good judge of beauty. Paris did not have an easy job. Each goddess, easy to win the golden apple, tried aggressively to
bribe him.

 
'I'll grant you vast kingdoms to rule,' promised Hera. 'Vast kingdoms are nothing in comparison with my gift,' contradicted
Athena. 'Choose me and I'll see that you win victory and fame in war.

 Aphrodite outdid her adversaries, however. She won the golden apple by offering Helen, daughter of Zeus and the most
beautiful mortal in the land, to Paris. Paris, anxious to claim Helen, set off for Sparta in Greece.

 Although Paris learned that Helen was married, he nevertheless accepted the hospitality of her husband, King Menelaus of
Sparta. Therefore, Menelaus was outraged for a number of reasons when Paris departed, taking Helen and much of the king?s
wealth back to Troy. Menelaus collected his loyal forces and set sail for Troy to begin the war to reclaim Helena.

Itemcode : AT1108
Q38
:

Eris was known for ________ both mortals and immortals.

(a)  scheming against
 (b)  creating conflict amongst

 (c)  feeling hostile toward
 (d)  ignoring

 

Itemcode : AT1109
Q39
:

Each goddess tried ________ to bribe Paris.

(a)  boldly
 (b)  effectively

 (c)  secretly
 (d)  carefully
 

Itemcode : AT1110
Q40
:

Athena _______ Hera, promising Paris victory and fame in war.

(a)  disregarded the statement of
 (b)  defeated

 (c)  agreed with
 (d)  restated the statement of

 

Itemcode : AT1133
Q41
:

The venue for Summer Olympics in year 2020 is _________

(a)  Paris
 (b)  Tokyo
 (c)  Qatar
 (d)  Sydney

 

Itemcode : AT1142
Q42
:

Along with the General Election for the Lok Sabha of India scheduled to be held in 2019, which of the following states
will also have the elections for Legislative Assembly?

(a)  Odisha
 (b)  Karnataka

 (c)  Himachal Pradesh
 (d)  Punjab

 

Itemcode : AT1148
Q43
:

The highest mountain peak in India is ___________

(a)  Mt.Everest
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(b)  Mt.K2
 (c)  Mt.Kangchenjunga

 (d)  Mt.Nanda Devi
 

Itemcode : AT1150
Q44
:

The 8th BRICS summit was held in Goa in __________ year?

(a)  2017
 (b)  2016
 (c)  2015
 (d)  2014
 

Itemcode : AT1191
Q45
:

Lantern is a party symbol of

(a)  Samajwadi Party
 (b)  Bahujan Samajwadi Party

 (c)  Rashtriya Janata Dal
 (d)  Janata Dal United

 

Itemcode : AT1192
Q46
:

Who among the following was chosen as mascot for Swachh Bharat Abhiyan?

(a)  Amitab Bachchan
 (b)  Lalgi Kishan

 (c)  Akshay Kumar
 (d)  Unwar Bai

 

Itemcode : AT1193
Q47
:

Which one of the following goods is not covered by Goods and Service Tax?

(a)  Food items
 (b)  Liquor

 (c)  Gold
 (d)  Industrial produce

 

Itemcode : AT1198
Q48
:

Who is the author of the book "Exam Warriors"

(a)  Shashi Tharoor
 (b)  Narendra Modi
 (c)  Manmohan Singh

 (d)  Derrick O Brian
 

Itemcode : AT1204
Q49
:

Who among the following names suggested for appointment of Supreme Court Judge was rejected by the Central
Government

(a)  Indu Mehta
 (b)  K.M. Joseph
 (c)  Dinakaran

 (d)  Rohington Nariman
 

Itemcode : AT1208
Q50
:

What is the full form for PDF

(a)  Printable document format
 (b)  Portable document format
 (c)  Pre document format

 (d)  Post document format
 

Itemcode : AT1119
Q51
:

You are required to match definitions to particular situations. For each question, you are given a definition and four
possible answer choices. Read each definition and all four choices carefully, and find the answer that provides the bests
example of the given definition. Answer each question solely on the basis on the definition given.

 
A Guarantee is a promise or assurance that attests to the quality of a product that is either (1) given in writing by the
manufacturer or (2) given verbally by the person selling the product. Which situation below is the best example of a
Guarantee?

(a)  The salesperson advises Curt to be sure that he buys an air conditioner with a guarantee.
 (b)  Melissa purchases a DVD player with the highest consumer ratings in its category.

 (c)  Lori buys a used digital camera from her co-worker who says that she will refund Lori's money if the camera's
performance is not of the highest quality.

 (d)  The local auto body shop specializes in refurbishing and selling used cars.
 

Itemcode : AT1121
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Q52
:

Three of the following four are alike in a certain way and so form a group. Which is the one that does not belong to that
group?

(a)  Radish
 (b)  Orange
 (c)  Pear

 (d)  Mango
 

Itemcode : AT1124
Q53
:

28% of 450+45% of 280= _________

(a)  126
 (b)  252
 (c)  324
 (d)  212
 

Itemcode : AT1127
Q54
:

The ratio of the present ages of Suman and Renu is 5:7 respectively. Four years hence the ratio will become 3:4
respectively. What is the present age of Renu in years?

(a)  20
 (b)  28
 (c)  24
 (d)  21
 

Itemcode : AT1172
Q55
:

If COBRA is written as BOCAR the GROUP will be written as

(a)  ORPGU
 (b)  ORGPU
 (c)  OGPUR
 (d)  OGRPU
 

Itemcode : AT1180
Q56
:

Find the odd one: Paris, London, Seoul, Shanghai

(a)  Paris
 (b)  London

 (c)  Seoul
 (d)  Shanghai

 

Itemcode : AT1182
Q57
:

If NUMBER is coded as UNBMRE then how will MISTER be coded?

(a)  SIMRET
 (b)  IMSTER
 (c)  IMREST
 (d)  IMTSRE
 

Itemcode : AT1183
Q58
:

The sum of two numbers is 10 and the difference of their squares is 40. Which is the larger number of the two
numbers?

(a)  7
 (b)  8
 (c)  6
 (d)  5
 

Itemcode : AT1185
Q59
:

A man can swim 13 kmph downstream and 9 kmph upstream. What is the speed of the man in still water? (in kmph)

(a)  10
 (b)  9.5
 (c)  11

 (d)  11.5
 

Itemcode : AT1189
Q60
:

KNQT: LORU:: ADGJ: ?

(a)  FHLO
 (b)  DGKN
 (c)  DGEF
 (d)  MPVW
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